Homework for the week of August 15
Follow the rules: 
· If the integers have the same sign, ADD them together and keep the sign. 
For example: 3 + 5= 8 and -3 + (-5) = -8
· If the integers have different signs, SUBTRACT them. The answer takes the sign of the LARGER number.
For example: 5 + (-8) = -3 and -4 + 11 = 7
Monday: 
1.   30 + 45 =
2.   86 + (-91) =
3.    -55 + -33 =
Tuesday: 
Billy purchased a stock from a company for $ 50.00. The next day the stock rose $10.00. On the second day, the stock dropped $5.00, and on the third day, the stock dropped another $2.00. On the fourth day, the stock rose $9.00. How much was the stock worth at the end of the fourth day?
Wednesday: 
List two situations in which integers are used in the real-world today.
Thursday:
1. What is a zero pair? Give an example of a zero pair.
2. -8 + 36 =
3. -84 + 21 =
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